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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language
No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:
‘| refuse to go!” announced Grandpa George.

So Mr Wonka and Grandpa Joe and Charlie, taking no notice of their screams, simply pushed the
bed into the lift. They pushed Mr and Mrs Bucket in after it. Then they got in themselves. Mr Wonka
pressed a button. The doors closed. Grandma Georgina screamed. And the lift rose up off the floor
and shot through the hole in the roof, out into the open sky.

Charlie climbed on to the bed and tried to calm the three old people who were still petrified with fear.

‘Please don't be frightened,” he said. ‘It's quite safe. And we're going to the most wonderful place in
the world!’

‘Charlie’s right,’ said Grandpa Joe.’

‘Will there be anything to eat when we get there?’ asked Grandma Josephine. ‘I'm starving! The
whole family is starving!’

‘Anything to eat?’ cried Charlie laughing. ‘Oh, you just wait and see!’

1) Where was the bed pushed?

A) Into the lift TeChOfWO rld . I n

)
B) Inside the factory
C) Inside the house
D) Into the room

2) In total, how many grandma's and grandpa's are mentioned in the passage?

A) Three
B) Four
C) One
D) Two
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3) Which grandparent did not want to go?

A) Grandpa Joe

B) Grandpa George

C) Grandma Josephine
D) Grandma Georgina

4) Who among the following was unpetrified with fear?

A) Grandpa Joe

B) Grandpa George

C) Grandma Josephine
D) Grandma Georgina

5) What did Willy Wonka, Charlie and Grandpa Joe push into the lift?

nmenaseane | @CHOTWOTrld. In

B) The bed
C) Grandpa George
D) Grandma Georgina

6) Fill in the blank with the correct option:

The resigned over a matter of

A) principal,principal
B) principle,principle
C) principle, principal
D) principal, principle

7) Which of the following alternatives explains the phrasal verb "Buzz around"?

A) banging your head against a wall
B) to fly above the clouds with a bang
C) to move around quickly and busily
D) to fall and stand repeatedly
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8) Fill in the blank with correct prefix or suffix:

More than 300 children were staying in that orphan

A) ness
B) age
C) ate
D) or

9) Which of the following words is correctly spelt?

vetara | @CHOfWoOrld.In

B) collaterle
C) colateral
D) collateral

10) Which is the correct alternative meaning of the phrase "Doped up"?

A)
B)
C)
D)

to be in a state where you can think clearly because you have been medicated

to be in a state where you can not think clearly because you are under the influence of drugs
to prepare yourself, or to prepare something for an activity or event
to criticise someone because you are under the influence of drugs
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Section 2 - Paperl-Education and General Awareness
No. of Questions: 5

11) The phenomenon of deposition of pollen from one flower on the stigma of another flower of the
same plant is called

A) Geitonogamy
B) Cleistogamy

C) Homogamy
D) Autogamy

11) anie adea 26y IR TQIa1E A06a 661N ZAQ Aal @Al 621 WSEIG gelar

A) S6I6RIGIE TeChOfWO rld - I n

) &
B) Q6’1015
C) saisaiaifl
D) 26s1aIf

12) Which of the following sequence is the correct chronological order of the creation of north-east
states?

(a) Nagaland < Meghalaya < Manipur and Tripura < Mizoram and Arunachal Pradesh
(b) Meghalaya < Manipur and Tripura < Mizoram and Arunachal Pradesh < Nagaland
(c) Manipur and Tripura < Mizoram and Arunachal Pradesh < Meghalaya < Nagaland

(d) Mizoram and Arunachal Pradesh < Nagaland < Meghalaya < Manipur and Tripura

D08
ocaoo

12) GgRd0e ANQ 6096 QOR-9e QIRY 09 ARA RAIRRAR @€ ?
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(a) euRg < saaiRa < ﬂaqa qe* @qal < feRiQuq 9° AQEIom 64l

(b) snaiea < adige 9e° §gal < feaialn 9e° AYEISR Y66 < RTIRIY
(c) aédge 9a @gel < fsRIaIf 92° AQEISH 68 < 67AIRA < RITIRIY

(d) GeRiqun 9a* AQEISR F6d < RIFINIG < 6AAIREA < Adgea 9 &gl

A)c
B) a
C)d
D)b

13) The Sarva Shiksha Abhiyan is a flagship program to universalize -

A) high school education eChO Orld . I n

B) elementary education
C) college education
D) vocational education

13) 1210 IR1Rad il AGAN ARAIR 6208 9@ YYH ADIRQE -

A) @9 840 dal
B) 910a s

C) aeidQyiea asl
D) deiee i

14) Which operation was augmented by the NPE 1992 (NPE 1986 amended) throughout the nation?

A) Operation Technology
B) Operation Midday Meals
C) Operation Blackboard
D) Operation Toilets

14) ang 6e46a 9@ T @ e¢¢9 (NPE e ¢ro creaiye) Qiol 60 2060a00Q Q]?]g’@ RAUARIYR ?
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A) 2A6RAR 66N
B) 2960QR AR 6QI8Q
C) 96028, @R1as|

D) 296049R 64191940

15) The Kothari Commission Report recommended that each school within the Common School
System should be attended by all the children in the areas they lived. This concept was called

A) Local schools

B) Nearby schools

C) Government schools

D) Neighbourhood schools

15) 6@I01& @A8Q A6aIF6a AN TN MRYER ! FESIR FMINAER 6AAIER QRIS FORQ ANY AR 6AIT 6291 AR AAIAE
QARG | 9@ ueag geIaRdal

A) 9919 4R TeCh OfWO rld . I n

B) AR0Y AMIRA
C) QaRIa1 da4Iea
D) a6gist @Quiea
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) A larger cube is painted with black colour on all of it's faces. It is cut in to 216 smaller cubes of
equal size. How many smaller cubes are NO face painted?

A) 16
B) 25
C) 36
D) 64

16) 9@ 9¢ QIS ANS AYY R ATER AFC RQAITMI | 9RAF AR ARIAA 929 6816 YYRER @SN | VG| IR 62601F 6816
QUea a1 aFe 62IR QIR ?

ne T echofworld.In

B) 98
C)as
D) 9%

17) In a certain code language, if the word COMMAND is coded as DPNNBOE, then how will the
word EQUALLY be coded in that language?

A) FRVBMMZ
B) ERUBMMZ
C) FRUAMMY
D) FRUAMNY

17) e @da saie aiaisa, a@ COMMAND se DPNNBOE aiqse 6qi2 62168, 606% 622 aigisa EQUALLY @t @ @ad
610 @A K9 ?

A) FRVBMMZ
B) ERUBMMZ
C) FRUAMMY
D) FRUAMNY
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

If no two students scored the same marks in the mathematics test, then what is David's rank in the
mathematics test?

|. The total number of students in the class is 30.

Il. In the test, 9 students scored less than David.

Q;TeChOﬁNOﬂdJn
C)3
D) 4

18) SIRYC 9g9eeeca 536 @0q :
2. 96 QRQ¢ | anaiie QAR aaIq Acaq 26T |

a6 QA€ |l vgdel anaie VA ceelg acaa 26T |
q. 96 YRG! | ver || anag 9eI0 G2IAS 6060 ANAIN ANA 626! Qe ALHF 266 |

¥. 96 Q94 | ve* Il a90g 9eI0 F2Ie 6669 B anain ARA 6ol aiet adiig g6¢ |

a6 6760 QaeeE 810 G986 aIEIEa AAIR AIF LIAM @ARILTE, 6060 G0 ANIRIER CERRR AUIT 660 ?
l. 6g4116Q 661 BIQ Yl 6208 Mo |

Il. 9@ aaigiea ¢ 94 818 698Q 0IQ @7 AIF adiad |

A) ¢
B) ¢
C)m
D)¥

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

19) In an evening, Udai singh and Vishal kumar were talking to each other face to face in an open
field. If Vishal kumar's shadow was exactly to the right of Udai singh, then in which direction was
Vishal kumar facing?

A) East

B) West
C) North
D) South

19) @6r ARYien A@a & e FEIR QAIA A 6¥IRI adEica IQAR AT qﬁlqﬁ" 62IR R2URIR ceaden | 98 F4IA QAIGS BI0!
000 ¢ 0Q 0101@ leg AGYRMI, 606e GaIn QAR 6ad dag Qoladen ?

»* Techofworld.In

C) aaa
D) @84

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If 'X' is an integer, then what is the value of |x+4| + |x-3|?
l. xA2 < 5/2
Il. xA2 > 3A2

A) 1
B) 2
C)3
D) 4

20) YRGS 999eea 836 90q :
0. 26 YA€ | anAa ARR caaig Acaq 26T |
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9. 9% QA6 |l 9gdz anAia QAR 629Iq acae 26T |
q. 96 Y4 | ¥ || aang 90 H2I8e 6669 ANAIR AR 62! Al ALY 266 |

¥. 9@ QA6 | ver Il anag QIO FEIAR 6060 @ AR AR a1 Al adiIg Q6L |

a@ 'X' @ Qdiw 269, 6069 |X+¥| + |X-M| @ FlIR 6REE ?
l. XA9 < 8A9

Il. XxA9 > qAg

», Techofworld.In

C)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following more strongly advocates spiritual conduct as one of main goals of
education?

A) Humanism

B) Realism

C) Idealism

D) Existentialism

21) 3810 e QY QIREA ARIAR 2ICREY AR L@ ANECA FIAYE AUQ 6846 6g1AT6 R6Q ?

A) AIeeQIQ
B) igeqiq
C) aledeie
D) faiainQia

22) The whole range of components and activities within which learning happens is referred to as

A) school TeChOfWO rld = | n

B) learning environment
C) classroom
D) community

22) 2aiaie 9 QIdIeeia agd adae 6adese 491 §od faIAIeaN I191g 69IR QRIAN |

A) Sauea

B) 98¢ adcad
C) sgeige

D) egeia

23) The Council of Scientific and Industrial Research (CSIR) is

A) a central government organization
B) a state government organisation
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C) a private organization
D) an international organization

23) QRIQ 8 @eQUITR 29QARNR ARAQ (CSIR) 6208

A) 629 AR 9@ A°gl

)
B) qigy aaQiee 9@ Q°gl
C) 9@ qsaix Q°gl

)

D) 9@ 2189169 Q°Q!

24) Which of the following was appointed to review the non-implementation of the Common School
System?

A) Mudaliar Commission

B) New Policy on Education

C) Acharya Ramamurthy Committee

D) National Knowledge Commission

24) 360 rIQ 6964 QIR ARG NYR ZE-RITIARAIQ ISl 9GSl Al FYS coaBAI 2
e | €CHOTWOTrIA.IN

B) 981 gor @18

C) ziqdi AR ofie

D) 91610 817 216014

25) In “POSDCORB” R stands for

A) Reporting

B) Renaissance
C) Reorganization
D) Renewal

25) “Ge4edacuied” ¢a QI 2iq NG Q4N

A) Q6Q16G°q
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B) @sqaarq
C) GadIRIeeaq
D) agyaia

26) Which of the following questions are critical thinking questions?

A.Give reasons why you do not like the climax of the story and change it accordingly.
B. Recite a poem which you have learnt in your childhood and explain the theme of the poem.
C. Catergorise the given leaves into different categories based on their colour, texture, and shape.

D. Do you think stealing is always a crime? In which circumstance could it be considered differently?

»ao 1 €chofworld.In

B)B,C
C)A, B
D)C, D

26) FQRYe g999ee MUQ 6a9E gaQad SIRINGS g4 ?

< 2198 RILNEQ 69TNIE ADR AR A0S QIR ARG FUY e 62D UQAIN 921G TARCR RQQ |

9

. @ Q0! AI0 @03 ARG A8 ANERQ d¢ed I RF0IQ FVARLR IH @eg |

()}

. QuIKIRgel 09g8Q 6AAIRSA OF, G0R, Y 2IQE 2RAIR A8q edsa AHIRed @ag |

)

. 21048 NISS @ 6010 FAR! AYERER AAAN 6NN ? 609 AGFF6R Y2IQ §ig WIER FAQ FAAIRAIEH ?

>
A
)

4 o
92 O

O
_Q)
)

27) The teacher wants to introduce a new concept in the class but the students are in the mood to
PLAY AND ENJOY rather than study. Which of the following principles should the teacher ensure
before starting the lesson?

A) Principle of Readiness
B) Principle of Practice
C) Principle of Law and Effect
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D) Principle of Acquisition

27) d9@ 6g416Q 9@ QOR Rl QAR *8Ig QL8 Ag SIQAILE AUAR FAR PVRER CURA I ATCAIT FFVIQ ACRINER
223 | Q0 ARA AR GIQ AYAYE MG MUIQ 60T dee FH0 *aal @fe ?

A) 996 216

B) 2auaa @10

C) Uae 4& gaiea 916
D) 2ugeda @16

28) Which of the following teachers has the best pedagogical content knowledge?

A) P sets up experiments for children and asks a lot of why questions

B) X gives a lot of information, gives lots of references for reading

C) R designs experiences for conceptual clarity with comprehension checks
D) E writes the questions and answers on the board and gives a test

28) GgRYe eRMNIeE MIQ FIRINA JNICe FA09g AAER ACRIAN BIQ Q@ﬁ?-re C h OfWO rI d a I n

A) & dainiee aid aeise 695 20 RAB e 26 QITT 9§ aadlld |
B) <Q 260 9ol 6aadliB, 0de aidl 26ee caasag ceall@ |
C) aia QUINAI APe QR0 URAIER AF0! AN ALY 90 Q03 |

D) @ caidea gg wer afa caed e e aaia @AB |

29) Read the following statements and choose the CORRECT option.
()'The National Policy on Education (NPE) was adopted by the Parliament of India in May 1978.

(i) A committee was set up under the chairmanship of Ishwarbhai Patel in May 1990 to review
NPEand to make recommendations for its modifications.

A) (i) is TRUE and (i) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE
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29) G619 QINIGEQ LT 99 O] Sa8 QI8g

(i) 1978 691 F11960 NQG1D A°ALEA FFI AAE FIF1A R16 (YRIR) Y28 FAUARRA |

(i) 1990 691 60 HYQ NP AETRT 2UFFIER TR ANNG FISTA A1G (VRTR) Q AMAI IR° 92Y6R AFWRER
IR 2GEAIRR F9168 9@ AE S0 AAUAIRYMI |

A) (i) QB4 2166 98" (i) AR 26T
B) (i) Qo4 2166 9Q° (i) 2Q%Y 260
C) (i) 2Qey 266 9Q° (i) A4 26T
D) (i) 2QeY 269 9Q° (ii) 2AY 26T

30) The principle of freedom in Principle of Learning says that, since learning is an active process,

students must have freedomof Tech OfWO rI d i I n

A) action, result of action and destiny
B) choice, decision and learning

C) choice, action and result of action
D) choice, action and destiny

30) dal MGeq AURGIQ 916 QLR 64, 6a62Q 4TI @ AR YRAI, VNS AURG| QR AR

A) @I, QIdY 9e QAR TRITR
B) @a@, 846 e dal
C) 0@, idy 9&* QIdia aQIae
D) 949@, @id4 16* QI
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 4 6 ‘@' B3 VIR @ 4T QRIAN?

A) 289Q

B) aq Quae
C) §-9@

D) quge

32) 56519 64 QAAG 0T NIER AURY ARIER ANG A2 QUER IIYE Q8B ?

A) a9
B) @

C)ue
D) @@

33) @9, AI2Q, Y, YAl - 1 FRIQ 684E FYRIER F6ESY?

v+ Techofworld.In

QIeQ
C) @
D) ga

34) ‘@adg’ana faQleldearie 69 QI8 |

A) 799
B) e@al
C) el
D) zuge

35) ‘288’ QAT SN6A JEAIT 62IR 624 22Q AAIRIS AAI?
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A) qigia
B) Goa

C) gaie
D) aqiQ

36) 38 FRIQ 6RLG IR 6Q9F §Q Q6L?

A) agell
B) gae
C) 1@
D) dai

37) ‘@’ A1 Me2IQ FAILINAR RAATYS S8Q QIS |
A) Géee
B) 63ae

C) deia
D) aiee

o

38) ‘@Y ¢ia ¥R YR’ 9Fa 2d Fqad e |

neasews | @CHOfworld.In

B) 299 21QQie @de!
C) @dq gel @dal
D) @i® 2192 @Q9

39) ‘aniey Q8 62Ql’ 2d P RS QTR Q12 |

A) U¢.QRIee!
B) 214 9RIaS
C) g sSR!
D) Qiqia Q& 6<l
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40) G91Q AQ16Q AR QLT — AR 69Q AT F649E ?

A) aeia
B) a1
C) gaia
D) ae&

41) ‘adie’ 99e faQloidealie 89 QI8 |

A) 8190
B) 91e6e
C) 2gqoe
D) s7ede

42) Q@269 'I9q Q0IR O YIF6A 2AYg AT FT6M 629 AALRGY FEI?
v 1 €CHOfWoOrld.In
B) 264

C) &
D) 2

43) GeqIe 9 AuQ ‘e80!’ 2dea ‘A’ 9oya 6Ql6e 600 ardg QI |

A) saRe
B) @@l
C) aca
D) fgda

44) QAR QA GGEIQ AR AGE — OIEQ QIACLR @ IRIQ 66T ?

A) Q43 QIeR
B) @g QIo@
C) Q16 QIo@
D) g& @ioe
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45) ‘@061’ 49q QNI 48 QI |

e Techofworld.In

asiia

C) aee
D) Qae!
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following equations has x = 3 as a solution?

A)3x+2=8
B)3x+5=12
C)2x+5=11
D)2x+5=15

46) GRde ANRREYFR AUQ 6RUER AL AR X = 3 088 ?

A)3x+2=8
B)3x+5=12
C)2x+5=11
D)2x+ 5= 15

47) If the are of an equilateral triangle APQR is 16V3 sq.cm, then what is the length of its median?

veem 1 €CHOfWoOrld.In
il
D) 8V3 cm

47) 96 e anep 899 APQR @ 910 6208 16V3 9d6ad, 6668 9210 AUAIN A 6060 62€ ?

A) 6 sad

B) 5V3 saf
C) 43 sad
D) 83 saf

48) HCF of two numbers is 15 and their LCM is 840. If one number is 105, then which is the other
number?

A) 240
B) 90
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C) 60
D) 120

48) 9@t i calq 6208 15 9o sanieea RAlg 6298 8401 9 sad~a e 105 249, 666@ ARY PHIT 6260 ?

A) 240
B) 90
C) 60
D) 120

49) Veena borrowed T 1,000 for 2 years at 10% interest compounded annually.What is the total

interest to be paid?

vezeTechofworld.In

C) % 230
D) % 250

49) Q16ll ai8e 10% o198 qu 2esa 2 ad aiel T 1,000 a& 620260 | GIF AU 6R60 QM 6291Q 621 ?

A) ¥ 210
B) % 220
C) % 230
D) % 250

50) What value of x satisfies the equation 0.4x + 0.72 = 0.28x + 5.52?

A) 40
B) 20
C) 10
D)5

50) x e 6a@ AR 0.4x + 0.72 = 0.28x + 5.52 anieadq a0 @€ ?

A) 40
B) 20
C) 10
D)5
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51) What is the circumcentre of the triangle whose vertices are (3,4) (8,4) and (3,16)?

A) (11/2, 10)
B) (3,10)

C) (11/2, 4)
D) (7,12)

51) 4@ 69ee 086ag 6760 62 AIRIa a1d 62ad (3,4) (8,4) e (3,16) 2

A) (11/2, 10)
B) (3,10)

C) (11/2, 4)
D) (7,12)

52) A number when divided by 2,3,4,5 and 6 leaves a remainder 1 in each case, but when divided
by 7 leaves no remainder. Which is the least such number?

vsot [echofworld.In

B) 301
C) 465
D) 630

52) @ eyl 62606969 2,3,4,5 9e° 6 QI0I 99 29 g604R NIGEAS ¢ BIBAN, A 6A6E6RER 7 QA IS I NAEAT QAN |
P~ N
R9Q 9901 @7 PHIC 6RRG' ?

A) 501
B) 301
C) 465
D) 630

53) A certain amount deposited at a rate of interest of 13% yields a simple interest of ¥ 338 at the
end of 2 years. What is the amount that is deposited?

A) Z 1000
B) ¥ 1300
C)Z 1700
D) 2600
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53) 13% Qu 2106 @91l 62102Q1 9@ 734 adaaq 2 od 6a86a T 338 a aae Qi AR | KAl 62IRYRI QI8 666 ?

A) Z 1000
B) ¥ 1300
C)Z 1700
D) 2600

54) Salaries of Ravi and Sumit are in the ratio 3:5. If each of their salaries are increased by % 5,000,
then the ratio of their salaries become 2:3. What is sumit's salary?

A) % 25,000
B) 20,000
C) 15,000
D) 10,000

54) a& e gies eaql 3:5 agaiesa 22 | 9@ sanieea geoye @aal T 5,000 Q& ai, 6669 6aIRs @0l 2gale 2: 3 621Qaid |
6069 TSR QA 6R60 629 ?

»esoo | €CHOFWoOrld.In

B) % 20,000
C) 15,000
D) 10,000

55) Which of the following represents a null set?

A) {}
B) {0}
C)0
D){®}

55) 89Rge auQ a8 1@ gRY 646 @ Q4N ?

A) {}
B) {0}
C)0
D){®}
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56) Which is the least number by which 18,772 must be divided so that the quotient becomes perfect
square?

)
) 12
)
)

o0OwW>

56) 692 QA Tl 6QAT, a2l giel 18,772 GaiSe 6291 A6 AISTS @ g4 Q4 6R1QAN ?

A) 11
B) 12
C)13
D) 19

57) Poin P lies outside a circle with centre O and radius 9 cm. If OP = 15 cm, then what is the length
of the tangent PT that touches the circle at point T?

»uen 1 €CHhOfworld.In

57) P qiee 896 1@ QRIRIA 686 9I2i6a 28 aIoie 6R9QQ O ver auais 9 6aq, a8 OP = 15 6a, s06e Q@Q T 560 a4
@8el PT a @a 6266 6207

A) 11 6ad
B) 12 ead
C) 16 6ad
D) 17 ead

58) The average salary of A, B, C and D is ¥ 85, 850 and their salaries are in the ratio 2:3:5:7
respecively. What is the salary of A?

A) % 20,400
B) % 40,400
C) % 60,600
D) % 85,000
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58) A, B, C 1er D a eiieid eaal X 85, 850 ver saciesa @aal 2: 3: 5: 7 2Qaie6a 028 | 6069 @ @ @96l 6260 ?

A) % 20,400
B) % 40,400
C) % 60,600
D) % 85,000

59) If for two finite sets X and Y n [P(X)] = n[P(Y)] + 992, then n (X) + n(Y)

A) 5

B) 32
C)15
D) 50

59) 0@ qaf aifie sae alt X 9e* Y n [P(X)] = n[P(Y)] + 992, ses@ n (X) + n(Y)

»s 1 echofworld.In

B) 32
C) 15
D) 50

60) There were 'n' students in a classroom. Each of them contributed X 'n' each for the annual day
celebration. If the total contributed amount was X 7,744, then what is the value of 'n'?

A) 78
B) 82
C) 88
D) 92

60) 9= 6gargesa 'n' IgeIQ1 g6n | TR 22 AIRe AR g6eisa X 'n' seagsn | 9@ aQela aeQie ald T 7,744 gal, 6069 ' N
Q FlIR 6Q60 ?

A) 78
B) 82
C) 88
D) 92
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which among the following refers to, a small-diameter column of violently rotating air developed
within a convective cloud and in contact with the ground?

A) Earthquake

B) Tornado

C) Tsunami

D) Volcanic eruption

61) 9Rge AIQ 6R4E Y@ QAR Q1AM B YT AYER T80 621 2R 6996a 6918 ARAR IR 681G FQI 3AQ IS0 AR ?
»= Techofworld.In

B) el

C) 9714

D) 2Iegadid aQ1ad

62) Which layer among the following options makes up most of the Earth's mass?
A) Outer Core

B) Mantle

C) Crust

D) Inner Core

62) AIRYE FRAYER AUEA 62Q IR YYRIR ARG 2°8 Y] AEQ?

A) QI9Y 691 28R
B) aigieq

C) gaQ

D) 2138 6@59 2186

63) What type of right is Right to Information?

A) Fundamental Right
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B) Legal Right
C) Neither a Fundamental Right or Legal Right
D) Both Fundamental Right or Legal Right

63) 9ol 28QIR 6a% YRIQR ANRIR ?

A) 6013% 2R
B) YRRV LR

C) a1 96 60160 2yRIa Rl ZIOREO LNRIQ
D) 67130 2 G UIRKEE BURIA A0G

64) Who among the following rulers of the Mughal empire founded the Tughlaq Dynasty?

nrozsranunea | @CHOTWOrld. In

B) Ghiyas ud-Din Tughlaq
C) Mahmud Shah Tughlaq
D) Muhammad bin Tughlaq

64) 6AIOR AIFTING FIRYS FIARFIRE FRIER T4 QINI] AUR°A GV *Y6RN?

A) GeqIe QIR QIRI}
B) d019-0q-0q QORIQ
C) aege a2 gORIR
D) q12ae 8] gIRIR

65) The Silent Valley Movement was aimed at fighting

A) against the increased noise pollution
B) for the curbing of e-waste

C) against hydroelectric power project
D) against elephant poaching

65) ARsre QIR 2ICRINE 98 AIE Y QUIAIRER

A) 986 69 g9aa asa
B) @-2Ie6iq 601@e! alel
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C)ee QYRR FQEEQ
D) 2161 263 §QI 9Qa6a

66) The ductile part of the Earth just below the Lithosphere, including the upper mantle and that is
characterized by low seismic wave velocities is known as

A) Biosphere

B) Hydrosphere
C) Mesosphere
D) Asthenosphere

66) q2a1e ARQ 2ra RCRAARTR, 069, AUQ 6ARF AFYS @G e* 1R ¢ YR 00T 696 QIal F0 |

neaaraa | €CHhOTfWoOrld.In

B) eipegidae

C) sncaka
D) u6g6R1aae

67) Which of the following options is CORRECT about Panchayati Raj in India?

A) Panchayati Raj gave importance to higher representation to women than men
B) Panchayati Raj is one of the reasons for growing cases of corruption
C) Decentralization helped the roots of democracy to reach deep down

D) Funds of Panchayat are audited by the CAG

67) G9RY0 F08gFe AIQ 6RU6 NIREER TFPIINS QIR F8A6R A0R AEE ?

A) TOI88 QIR QRS UCAAI ARRIAINGE AR FEFYQ *ARIQ 9RQ 69N
B) QAB AINAI QPR AISN RIQE 6208 TRIAP QAR

C) 76921004 G60aR (9g GNGGIER AL°FIER ARIAG! Q8RN

D) Triaeq ai8 AIF qlal 2B QAIa

68) Which Act among the following is called 'Mini Constitution'?

A) Gowt. of India Act, 1935
B) 42nd Constitutional Amendment
C) 44th Constitutional Amendment
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D) Govt. of India Act, 1919

68) GgRge AIQ 694 AN ‘L QAL QRIAN ?

A) QI0e AR 28799, e Mg
B) ¥9 69 QRuIFe Tedle
C) ¥% 69 QRURR T6aIIR
D) 9196 aQ@Ies 28R, eced

69) Vernal Equinox of Northern Hemisphere on the Earth marks the beginning of which season?
A) Autumn

B) Spring

C) Summer

D) Winter

69) 92910 a@a cAINITER Ql AFIN AFRF 629 QR 2AAY q&‘@ Q6Q ?

mTechofworId In

C) a1q
D) @1e

70) In which year did Gandhiji start the Dandi March as the Civil Disobedience Movement?

A) 6th April 1930

B) 12th March 1930

C) 26th January 1930
D) 31st December 1929

70) 6a4 Qdeq GIRR 2IRR ANIRY ACRIRR NEQ AE AIGI 2AA *GYER ?

A) ©@a e o
B) ¢9 Q@ e ¢ao

C) 92 SIgaiat e ¢qo
D) e @6anq e 9 ¢
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71) Painted Pottery is the most distinguishing feature of which of the following prehistoric periods?

A) Mesolithic Age
B) Neolithic Age
C) Chalcolithic Age
D) Iron Age

71) 386 QRIQ FIRYS JITTR QIR AIQ 6RRG AR AOIQ 8R 638]Y?

A) 606Q@eR 9
B) ceaigie 99
C) oneaimaR 9o
D) emle 9ol

72) Which among the following options is the odd one out?

A) Norkrek-Meghalaya TeCh OfWO rld . I n

B) Simplipal-Odisha
C) Cold-Desert-Himachal Pradesh
D) Guindy-Tamil Nadu

72) Q9R40 Fe89ee AQ 6200 6208 @q ?

A) 6RIQERR 61N

B) dfiRaie-caal
C) 9162-0QeA-20190 9624
D) 9ed-ediaqig

73) Under the Gram Nyayalayas Act 2008

A) Only Civil cases will be heard at the high courts

B) It allows local social activists as mediators or reconciliators
C) Only Criminal cases will be heard at the high courts

D) Providing access to justice to rural citizens at their doorstep
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73) 91N QUAIRD ANFAN 900l AURER

A) 206QIS60 6099 6GIR1 AINAIR §EIT QAITQ

B) wel ga AN QlﬁHQélq ARG @2 ANAIRIN NNER AYAS &9
C) 266QI66Q 600 AR AINRIR 4618 @AITQ
D) 9IAreRa QIGRRAIRG 6AAIRE QIAEQE6R A FAIR @GR

74) The Tropic of Capricorn lies at approximately

A) 23.5 degrees North of the Equator
B) 66.5 degrees North of the Equator
C) 23.5 degrees South of the Equator
D) 66.5 degrees South of the Equator

mmmmosss Techofworld.In

A) gausasia 9.8 &g aRR6R

B) QAR 99.8 @91 ABAAER
C) 9nueasia 9.8 &gt afe6R
D) 9ARI6Q4IQ 9.8 31 @fa6a

75) The Balkan plan for its 'Fragmentation of India' was the brainchild of which leader?

A) V.P. Menon

B) Mohammed Ali Jinnah
C) Lord Mountbatten

D) Winston Churchill

75) ‘aiesneedr aa adel’ aid QNI CANR! 6RY 6ROITA AR RN gl ?

A) @. @ 690Q

B) aeqQ 2R1 @4l
C) ¢ AIreauisen
D) geaq oda
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the following reactions can convert carbonyl to alkane?

A) Carbonyl with Na - HCI

B) Carbonyl with Zn(Hg) - HCI
C) Carbonyl with Al - HCI

D) Carbonyl with Cu(Hg) - HCI

76) GRde goRaIgFe MIQ 6096 RITANR UINRRER 0GEe *GaIRe ?

A) QIRGR Q@¢ Na - HCI TeChOfWOﬂd In

B) @Ie@a Q&% Zn(Hg) - HCI
C) QIeda A@¢ Al - HCI
D) @Ie@a Q@6 Cu(Hg) - HCI

77) Which of the statement is TRUE for anti-ferromagnetic solid substances?

A) The resultant magnetic moment is very high due to alignment in same direction

B) The resultant magnetic moment is zero due to equal alignment in opposite directions

C) The resultant magnetic moment is small due to unequal alignment in opposite directions
D) Only weakly attracted by magnetic fields and forms temporary magnets

77) ardsacainiiegee @09 ald 6896 609 QOIS A0R U6 ?

A) QAR Ga6a T6RNE RIEQ TN QAATA 126 T0 AR 6RIRAIN

B) @016 366 AAIR TEAAE MIAEQ TNAR QAAIA 926 §RY 620N
C) S9616 3660 AR PEANE FIREQ TNTD QAIA JR6 6316 6R1RAIN
D) 699% QAMIA 68Q QIal Q49 AIRE 2IREE 24 16" 21 QAR 98 @60

78) A 150 m long train is moving to north at a speed of 10 m/s. A parrot flying towards south with a
speed of 5 m/s crosses the train. The time taken by the parrot to cross the train would be

A)25s

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World

B)15s
C)5s
D)10s
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78) 150 m §i5@ @1d 49 681 10 m/s 62662 @60 AIAE | 986 2IGG 5 M/s 69668 VYS! I §2 657
AP QAR | 690 AP @RI diR g2l FIA QUL A 6L

A) 25s

B) 15 s

C)5s

D)10s

79) The small intestine has three parts. The first part is called

A) Duodenum TeCh OfWO rI d . I n

B) Pharynx
C) Stomach
D) Oesophagus

79) 92 29RR16a H6AIE 2rd &N | gaA IG] 92! QRIAI

A) Q66000
B) 7I166Q
C) 6as

D) GsQiTioa

80) The example of floating but rooted hydrophytes is

A) Vallisneria
B) Lemna

C) Nelumbium
D) Pistia

80) @IafIe 83 RYS 2ARCLTIAS Q AALAE 6208

A) aiReasedl
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B) a9l
C) saafiaq
D) aaui

81) What product will form and type of reaction will occur when bromine reacts with ethylene?

A) 1,2-dibromoethane and addition reaction

B) 1-bromoethane and addition reaction

C) 1,1,2-tribromoethane and substitution reaction
D) 1-bromoethane and substitution reaction

81) 6217108 QYA AT6 ORI ARIERER 694 AR 9T 629 Y& 694 gRIee 9o&aI afe ?

A) ¢,9 -@6Q169162R 9e° 6QI6l YOG

B) ¢-6gl6qIsaR 1e* 6QI9 9ol

C) ¢,¢,9-86ql6qI6a@ 1e* gogIae 9oaal
D) °-6gisqicar 1er goQIae gogal

82) What will be the mole fraction of 2 g Hz2 gas in a vessel also containing 8 g of Oz and 7 g of N2
gases?

vozs | @chofworld.In

B) 0.5
C)0.75
D) 0.45

82) 1@ aigsa 2 gif H2 au1ae 6c1R agra @’¢ 62 e w8@sa 8 gin O2 ve* 7 gie| N2 euia i 028 ?

A) 0.25
B) 0.5

C)0.75
D) 0.45

83) A police jeep moving with a velocity of 45 km/h is chasing a thief in another jeep which is moving

with a velocity of 153 km/h. Police fires a bullet with muzzle velocity of 180 m/s. The velocity with
which it will strike the jeep of the thief is

A) 150 m/s
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B) 270 m/s
C) 600 m/s
D) 900 m/s

83) 45 km/h 6946 Q&) 6aIRQ §d 153 km/h 69616Q LIRRQ! 2RY IR FUEA &8I 69IAQ CAIRE | AR
180 m/s 5684 6346 g1 IR GF SRR | 6JQ 6QT6Q 2! 6910a FAQ AAIG 622 FIl 6208

A) 150 m/s
B) 270 m/s
C) 600 m/s
D) 900 m/s

84) Structure within the cells of plants and green algae that is the site of photosynthesis, the process

by which light energy is converted to chemical energy, resulting in the production of oxygen and
energy-rich organic compounds
A

. i;:(i)(:z:::;rtlic reticulum Tech OfWO rld J I n

)
)

C) mitochondria
)

D) ribosomes

84) ade e 29R6IRIRQEFRR 6RIF ARIER G0R QIR 6298 2EAIR PEYIIQ IR, 69¢ JRAI QA AR 43 QAR 436a AGae
24, IRUQU ARIF Ie° 43 QIAI AN UGAYS 6TITe AURR 24 Cl2l 6208 UAAUAYAAAAAALA

A) 6QIgIRINR 6Q5gRa
B) salsqiqI8

C) Alasciag

D) aiasei6Qie]

85) Catalase enzyme of peroxisomes catalyses the decomposition of hydrogen peroxide to

A) water and carbon dioxide

B) carbon dioxide and hydrogen
C) water and oxygen

D) hydrogen and nitrogen

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

85) GGGQI@GQIQ\QIQISQ@ Neeinf] 2RCCERe 6dagine @ 34 @FINRe @6

A) 89 & 2RI

B) 2NaRIF IS QQQIR
C) 89 ¥& 2qRIR

D) 928I7 9&* AQSIeRIR

86) Which of the following is a type of Underground stem modifications?

A) Rhizome
B) Runner
C) Twiner
D) Offset

86) GoRge MmIQ 62U 290108 68 QUISER gRIA ?

nese | @Chofworld.In

B) 9%
C) e79
D) aa6as

87) A 10 litre cylinder contains 0.4 g of helium, 1.6 g of oxygen and 1.4 g of nitrogen at 27 °C. What

will be the partial pressure of helium gas and total pressure in a cylinder respectively? (Assume ideal
behaviour of gases. Given R = 0.082 litre atm mol-'.

A) 0.146 atm and 0.392 atm
B) 0.246 atm and 0.492 atm

C) 0.0246 atm and 0.0492 atm
D) 0.0146 atm and 0.0392 atm

87) 9@ 10 Qee dRgasa 0.4 ga 8daa, 1.6 g aqeie e 27°C 6a 1.4 gin QIR6gIcas 028 | 2000 quae 2rde Qa e

AR906Q 6716 QO 6R60 620 ? (NIAQ AIRE ZiIead 2eae @eg | R = 0.082 deq @gg mol -1 daied )

A) 0.146 atm and 0.392 atm
B) 0.246 atm and 0.492 atm
C) 0.0246 atm and 0.0492 atm
D) 0.0146 atm and 0.0392 atm
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88) A particle moves in a straight line with retardation proportional to its displacement. Its loss of
Kinetic energy in any displacement x is proportional to

A) x?

B) ex

C) x

D) logex

88) Q@ QéIQI I2IQ FRIAR AL AAIQUITR VLA ALLIEA AAREAIEA IG QEQ | 6@1SIT FRIUR X6Q TR 639
Q9 Y A2 AAIQAIS ?

A) x2

B) ex
C) x

D) logex

89) Vernalization is aprcess used in horticulture, which of the country given below characterised
based on temperature do you use vernalization?

A) Only in sub-tropical countries TeCh OfWO rl d . I n

B) Hot countries
C) Cold countries
D) Only in tropical countries

89) FINIRERAR 6208 QMR QE6Q QL IR R, CIAAIG AR ARG AG Fea FUARNYR 60U 6R96R UAE AFINRCRAR
RRAR QB ?

A) 6999 Q0-28QCINNA 6QYERER
B) @8 624

C) Ao 696
D) QAR ARG 6QAYEREQ

90) Which of the following is NOT a membrane-bound cell organelle?

A) Peroxisomes
B) Vacuoles
C) Lysosomes
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D) Ribosomes

90) FYRYE RIQ 6RNT IR 6AEAR-ABE 61T UTIEAN Q6L ?

nesmesan | €Chofworld.In

B) 95!
C) QIReQisais]
D) QiaeQieQif|
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1A 31 | C 61 | B

2| D 32[C 62 | B

3|B 33|D 63 | A

41 A 34 | D 64 | B

5|B 35|B 65 | C

6| D 36 | B 66 | D

(ALe 3l | 87 | €

8| B 38| B 68 | B

91D 39D 69 | B
10| B 40 | A 70 | B
11| A 41 | D 71| €
12| B 42 | B 12 | €
13| B 43 | D 73 | D
14 | C 44 | C 74 | C
15| D 45 | D 73 | €
16 | D 46 | C 76 | B
17 | A 47 | C 77 | B
18 | C 48 | D 78 | D
19| D 49 | A 79 | A
20| D 50| A 80 | C
2l | C 51| A 81 | A
22| B 52| B 82 | B
23 | A 53| B 83 | A
24| C 54 | A 84 | B
25| A 55| A 8 | C
26 | A 56 | C 86 | A
27 | A 57| B 87 | B
28 | C 58| B 88 | A
29| D 39 | C 89 | C
30| C 60 | C 9 | D
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